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Instructions :

(i)  All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer
questions carrying 1 mark each. They are required to be
answered in one sentence.

(iv)  Question No. 6 —8 and 21 — 23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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(v)  Question No. 9 — 11 and 24 — 26 are also short answer

questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

(vi)  Question No. 12 —15 and 27 — 30 are long answer questions

carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

Qus — A
Section - A
1. SO-S9 U {3 goar Hieft T A7 9% W g9 916 ¥ N Ield
3, i 51 i @i ¢ (59 P ) I

(31) foom &t 2
() TRt Seft ®
(|) et STt ©
(3) JE A Rt 2, e st @

As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct
alternative)

(a) remains unchanged

(b) goes on falling

(c) goes on rising

(d) falls initially then rises
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2. TSR A <kl g Sifera |

Define market demand.

3. = fafy g0 9 W W T a%g H G0 dAeER § | 6eh! hiHd e
W : (T foshea gHv)

31) 38 W fohu 7T =2 | 18 uftEds T | |

) 39 T Topa TR = e |

T) 30 W R T = He |

T) I H G g ot |

(
(
(
(

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :
(choose the correct alternative)

(a) no change in expenditure on it.

(b) increase in expenditure on it.

(c) decrease in expenditure on it.

(d) any one of the above.

4. AATIHR hl hIS Ueh fIRIodT saqr3U |

State any one feature of oligopoly.

5. 3THd GuIed (A7) R hHd TaT SR Bld & : (T foehen giu)

() Shaet quT SRl o STeaid

(9) haced ThTTRRIcH TTqATRTdr o F=aiid
(|) haet THITEHR o =i

(3) @t TR & STeR B
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Average revenue and price are always equal under : (choose the

correct alternative)

(a) perfect competition only
(b) monopolistic competition only
(c) monopoly only

(d) all market forms

6. ‘T I R h GHET hl AT hHIfSTT | 3

Explain the problem of ‘how to produce.’

7. ICUTEH AHTEHT ST (3 o 31ef 37 forgrmand sramsu | 3

State the meaning and properties of production possibilities

frontier.

8. 3wt favcivu i weRd § fe@sy o ww avq i 7 7R I5eh!
Fma H foroda Ty g ] | IWEsT | 3

HAYAT

STATHM Ik 1 @A SROTTcHeh 41 BidT & ¢ gHesU |

Show that demand of a commodity inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.
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9. Ueh 3STEUUI ohl TERIAT © BIEHA HIHTd TTceeTds &t o1 379 HHeST |

Explain the meaning of diminishing marginal rate of substitution

with the help of an example.

10. A 3T o YR R qiEd! Fgamdi o o o by =wo sare |
[T 1 SR T |

HAYAT

qfd i hHa @ 7o T Sffae faf awemse | et wowEm
hifer |

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of

supply. Use diagram.

gEEM udierTierat o foTe woa §&at 10 o T W

afErdt 1Al < em o oty =wor ue aiforent shi S-an € Sams |
3t

qfd # ufada’ iR “qfd it v | uftada’ o off= T awEse |

For blind candidates in lieu of Q. No. 10.

State different phases of the law of variable proportions with the
help of a schedule.
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Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

11. TehifrerrrcHs Sfaafirar o ‘ot & ety yawr ot sfeda’ fogwar &

gfoTm 3t ST i | 4
Explain the ‘free entry and exit of firms’ feature of monopolistic
competition.
12. TAfaRaad arferer w1 QU il : 6
3E | ol AT | 3Td aiEd | T | HHT A | 3Td fRR arTd
() | (%) (%.) (%) (®.)
0 30
1 20
2 68
3 84 18
4 18
5 125 19 - 6
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Complete the following table :

Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 -—-- - —
3 84 18 - —
4 --- --- 18 ---
5 125 19 --- 6

13. 9% Y 9% X il yfcenas g 2 | Y 3 hmd =e A1t © | 39 qiEdd o
RO X o ISR § B dTel THTE 3h1 @A hl TR i |

HAAAT

T 9] o fd AT sl 3Tl Gger shivd W INTE] Sl J@a i
T I |

Good Y is a substitute of good X. The price of Y falls. Explain the
chain of effects of this change in the market of X.

Or

Explain the chain of effects of excess supply of a good on its

equilibrium price.
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14. I%g X sl &Wd 9@ 10 Jiowd @2t 8 a Skl AT 150 TS 9
gt 180 TohTS & T & | SHeh! [T shl ShiHd il ohl THeheld ehifaTy |
Okl Shid fehad Wiawra = foh $9ehl WM 150 $1% @ 210 3HE &
ST ? 6

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so

that its demand rises from 150 to 210 units ?

15. dmfd @rm 3R d@mrd sray (3mm) fafer & Icumed &1 a8 T’ I«
o 8 W Icaew aged i feafa & 21 3w IW & fotw sy

giferu | 6
3T (3HTS) 1 2 | 3| 4] 5|6
37rEd |y (%.) 20 | 20 | 20 | 20 | 20 | 20
FA AT (3.) 22 | 42 | 60 | 76 | 96 | 120

Using marginal cost and marginal revenue approach, find out the
level of output at which producer will be in equilibrium. Give

reasons for your anSwer.

Output (Units) 1 2] 3| 4] 5|6

Average Revenue (Rs.) | 20 20 20 20 20 20

Total Cost (Rs.) 22 | 42 | 60 | 76 | 96 | 120
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@us - o

Section - B

16. T T ! SIS Tkl ¢ : (e foshed gfw)
(37) SiF R TGTeRL
(7) e e 5 g T S e
(&) e TN ST TETH
(3) 3Tk Terelt o grr &t

Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

17. = SRISFTH 1 379 saey |

Give the meaning of involuntary unemployment.

18. YA GqeH 1 379 AR |

Give the meaning of balance of payments.
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19. STMOTSH okl 1 I FA ST AT ST TG ARATT TS o o 918
TG B 8 34 : (T ferhed gfe) 1

(31) Tifafersh qaerar 31guTd Fed §

() STHT 3TJUTd FEd 2
(|) IRd Tohg T
(3) JAefeh Iy 1T

The ratio of total deposits that a commercial bank has to keep with

Reserve Bank of India is called : (choose the correct alternative)
(a) Statutory liquidity ratio

(b) Deposit ratio

(¢) Cash reserve ratio

(d) Legal reserve ratio

20. TSRS ETeT AT BT & 7 1

What is fiscal deficit ?

21. f<m FEGAT 3R Aead] awgedi ¥ 9e HNT| TIH FH TH-TH
33T AT | 3

Distinguish between final goods and intermediate goods. Give an
example of each.
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22.

23.

24.

5T o Yod 999 Y THEET |

AT

HET SATYfd o1 37 TR 3Heh Heeh sy |

Explain the store of value function of money.

Or

State the meaning and components of money supply.

U I Teded R AT Al | afieha i T ATIR THIATST | ISTELT
dife |

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.

s Sk TTRR o1 Skt oh R ohl SRS shifSTY |

STeraT
ST AL o e 4 o W & (Ifd gedie ) ohi s{[eRT sl samea
Fife |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.
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25.

26.

27.

HHEATSY fohl Toh TLaRT SISTe 3T foraeor ant gTford ot HehdT @ 7 4

Explain how government budget can be used to influence
distribution of income ?

T TTEEdT Ggod H 7 | FHeElaied kel ¥ @R UM H
Tiehet hiferu : 4
(1) A= =10000

(i) T =rd Jgid = 0.2

(i) a1 = 1500

An economy is in equilibrium. From the following data calculate
autonomous consumption.

(1) Income = 10000

(1)) Marginal propensity to save = 0.2

(ii1) Investment = 1500

I % eI o Goh o €9 H ool 2 Ic1q hl TR-wifeen fafme’
T ! TR I | 6
arerat

[N Nl e

31 % TS IS T R hid THT THTaRad & |1 1 aeR
AT ? YT I o TT sy e -

(37) <1 o ik Y forgent | sramet gwy 1ftd @y

() T=tes g0 v st Taaean foad W 7 3uER

(@) forasht wieeni gRT1 @ISt T AEH
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Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(¢) Purchase of goods by foreign tourists

28. uM wlifste for faw # gig’ 900 g %. ? 3R dimia 39am y9f 0.6
7, 1 T[T hi fsha EHeST |

Assuming that ‘increase’ in investment is Rs. 900 crore and
marginal propensity to consume is 0.6, explain the working of

multiplier.
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29. () IR Yo W Faa TEE 3ce 3R (W) Tt AL TAST 3T

qieher shife :
(5. S )
(i) |=era oxff starat it et 400
(i) | fft A< 3o == 8000
(iil) | TR AT~ 3T == 3000
(iv) |l | gitead 50
(V) | oT=c ISt Rl 3THM 40
(vi) |Faa e # 100
(vii) | fraet frria (-) 60
(viii) | ferqwtt =l faet ek o (-) 80
(ix) | o @ fraer =me] gdiaa 100
(x) | < 100
58/1/3 15
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Calculate (a) net national product at market price and (b) gross

national disposable income :

Rs. in crores
(1) Gross domestic fixed capital formation 400
(i1) | Private final consumption expenditure 8000
(111) | Government final consumption expenditure 3000
(iv) | Change in stock 50
(v) | Consumption of fixed capital 40
(vi) | Net indirect taxes 100
(vii) | Net exports (-) 60
(viii) | Net factor income to abroad (—) 80
(ix) | Net current transfers from abroad 100
(x) | Dividend 100

30. fosht ger Y himd e W IHAT T FA Tt & S gfd o Fedl 7 7
IHETEN |

Why does the demand for foreign currency fall and supply rises

when its price rises ? Explain.
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